# **Townhouse in Zebbug**



#### Zebbug, Central



### €553,000

Total Rooms: 7

Bathrooms: 1

Floor Area (m<sup>2</sup>) : **169** 

Bedrooms: 2

Reference No: 240011147-146

## **Townhouse - For Sale - Zebbug**

Haz-Zebbug – This charming, well-sized townhouse is located in the heart of the village, within a UCA, close to all amenities. Despite being a corner property, it enjoys abundant natural light. The street reflects traditional Maltese charm while remaining accessible to cars. The townhouse spans two floors and includes its own roof, offering lovely views of the village. The property is freehold. For more information, please contact our agent.

#### **Features**

Electricity Utility

Roof Terrace

## Rooms

- Dining : 2.6 x 8.6 m (22.36 m2)
- Sitting : 3.98 x 6.55 m (26.07 m2)
- Double Bedroom : 5.14 x 2.5 m (12.85 m2)
- Double Bedroom : 5.4 x 4.08 m (22.03 m2)
- Laundry : 5.05 x 2.74 m (13.84 m2)
- Laundry : 3.23 x 3.2 m (10.34 m2)
- Bathroom : 1.93 x 2.86 m (5.52 m2)
- Open Space : 4.72 x 7 m (33.04 m2)
- Open Space : 3.23 x 4 m (12.92 m2)
- Open Space : 5.26 x 3 m (15.78 m2)

# Gallery





















Adrian Camilleri RE/MAX Premium - St Julian's

M: 99865817 E: adrianc@remax.com.mt T: 25780000

**RE/MAX Premium - St Julian's** 72/73,Gorg Borg Olivier Street, St Julian's, Malta